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outline
« Zgam
— fit and resolution
— further optimization
* High-Mass diphoton
— photon photon fusion



four strategy
— (@leading dijet
— (@dijet closest to Z mass
— leading and another closest jet
— @leading and another jet to reconstruct best M,
@ has a bad resolution, 2 has a bad structure in jet1 pT and dijet pT
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dijet combination 4

« check the signal-bkg ratio in strategy ®)(left) and @(right)

* since @ requires dijet mass cloest to Z, a bump near Z mas in
bkg will give poor significance
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fit and resolution 5

« photon pt> 300GeV, |mjj-90| < 17GeV
 resolution of Crystal ball is ~20GeV
« sum of weights is 8436, and the fitted one is 8328, 1.3% bias
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Events/ 5.00

simultaneous scan on pT,and pT;
* working point : pT, > 300GeV and pT; > 175GeV

* improvement on

ff (x)

f
velf (b)

Is 2.90

* same improvement as an only pTy cut on 300GeV : 2.90
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Events/ 5.00
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other variables(after pre-selection) 7
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Events/ 10.00

Events/ 5.00
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Events/ 10.00

Events/ 1.00
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Events/ 0.01

Events/ 0.10
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photon photon fusion
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j1_pt {jet_n=>0}

kinematics

h

j2_pt {jet_n>1}
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